Programming Methodology
Instructor: Kyuseok Shim

Project #1: Sorting & Selection
Due Date: 0:0 a.m. between 2007-10-2 & 2007-10-3

Introduction
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Implementation

sorting algorithm.
1. Insertion sort
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2. Merge sort
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3. Quick sort

selection algorithm
1. Quick select
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Input
1. sort
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(define x ‘(27 83 11 74 59))
(quick-sort x <)

2. select
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(define x ‘(27 83 11 74 59))
(quick-selection x 2 <)

Output
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> (define input ‘(27 83 11 74 59)

> (insertion—sort input <)
(11 27 59 74 83)

> (merge-sort input <)

(11 27 59 74 83)

> (quick-sort input <)

(11 27 59 74 83)

> (quick-selection input 2 <)
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